4. Enumerate the zonation of sea.
TS w1 asitaen faafaa it
5. Comment upon the deep sea adaptations. ZO—]O
TR S A & Ao W fewnit wifs

6. Describe the adaptations found in desert animals December — Examination 2020
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7. Throw light on behavioural measures to control Ecology and Environmental Biology

population. (urRfRerfaenta Td UHTGRUT SAfereht)

STEE g Ih & @R ST W JHRT ST |

8. Human activities have led to modification of Paper : Z0O-10
Natural communities. Justify.
e Tt & wRfefe § s 5§ fag Time : 2 Hours | [ Maximum Marks : 35
||I' ! ‘ Note .— The question paper is divided into two Sections
2 erte short notes on the foll?w1ng ' A and B. Write answers as per the given
(i) Red Data Book (i) TUCN instructions
(ii1) Green Book iv) Blue Book ' -
) UNEP Evi; 3SC e - Ty e’ iR ‘T 1 wmel # fawifsa ®1 v
Freferfer 0 e feoor ferfer - TS F PRI S W A
() ¥ =@ fHa (i) TUCN Section-A 7x1=7
(iii) 9 & (iv) =1 9 (Very Short Answer Type Questions)
(v) UNEP (vi) SSC Note .— Answer any seven questions. As per the nature of

the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 1 mark.
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1. (1) Define Ecological Succession.

TiRfEAfqeRTa STwAT &1 aRwIfta wifST
(i) What is Paleoecology ?
Stterew wiiifeafasnt =0 & ?

(ii1) Differentiate stenothermic and eurythermic
organisms.

T qen geardt shar o fadfea s
(iv) What do you understand by the term
cyclomorphosis ?

HEFAHIBIEE & 3T 1 T95d © 2
(v) What are Psammophytes ?
TrrETEe o 7
(vi) Name fwo nitrogen fixing bacteria.
I A Rt Sftar] & AW fafen |

(vii) Write the Gauss’s principle of competitive
exclusion.

TE o1 TgicHs g &1 T8 fafeu |

(viii)) Which are the two models of population
growth forms ?

SEE qfs AR F S gl yiiey s § 2
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Section-B 4x7=28
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
gus—d
(g T q9)

et .- frsl 9® 9wl & SR AU S T I

sfereRae 200 Isgi H UREfI wifSwl s 99b
7 3R & ¥

2. Explain the following :

(@) Mimicry
(b) Stratification
(c) Climax

(d) Humus
(e) Lotic
() Lentic

frafafea =1 g9smy -
(31) THA HEN

(7)) T

(T) =R

(?) =

(3) Tfas

(F) *mE

. How will you classify lakes on the basis of

productivity and water mixing ?

mawmm%wwmmyﬁvﬁaﬁ
fhe g afigpa HA ?
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